
) 

MAFCA 
Chapter 

Vot.3 No.2 

,!ln/p 'lnaliona t 

ul/otlet ,.4 :!k~£1 ~ '/'irlmia ,f1'/4JiXialio,n, 

VICTORIA NEWSLETTER 

This is the second newsletter of 1988. The first was in f"ebruary and had an error in the 
number of the Volume. The printer erroneously put Vol. 1 when it should have been 3. Those of 
you that keep the newsletters, please make this correction. 

MARC 
Region 

In the Model A News for March/April 1988 on page 4, Mr. Kauffman made a note of the correction to Mr. 
Gilliatt's question of the rubber seal under the Victoria door. He mentioned help from me and the Victoria 
Association. A little free advertising never does any harm. 

National 

June 20-22 is "MEET ME IN ST. LOUIS", MARC's National meet. As in Virginia Beach, Mr. Roger Van Houten 
will conduct a Victoria meeting there. Those of you that plan on attending this event, please look for the 
Victoria meeting and attend. 

July 12-15 "MODEL "A" THE HEW EIIGLAtlD "AY", MAFCA's ~ 15th National Meet & Convention, Sturbridae 
~assachu~etts. I will be there and will· conduct a Victoria meeting for those attending this event. ih; 
meeting 1s scheduled_ for Friday 15th from 7 AM to 9AM in the Charlton room of the Sheraton Sturbridge. 
Also, I would appreciate those of you that plan on attending, to please let me know. That way, I can have 
an Idea of how many to look for. 

Research 

am researching the bottom wood for the Victoria front seats. So far, it looks like there may be three 
different seat bottoms. I definitely know of the early plywood seat bottom and the late oak frame for the 
sliding seat ·mechanism. If any of you can shed light on anything else, please let me know. Someone sent a 
copy of a seat bottom that is the same as the early bottom but it was larger. I need to know if any of you 
might have the larger bottom or was that something someone made up. If you have access to your front sear 
wooden bottom, please make a copy of it and send It to me. 

One final item that I am researching is the top moulding. I am enclosing four drawings of the Victoria 
mouldings • and would 1 i ke to hear from you especially those that have an original car or those that have a 
restored car and know that the mouldings are correct. Moulding number one should be on the front of the roof 
above the header and covers the edge of the cloth top where it meets the metal header. Number two is 
supposed to be after 2/31 yet I know of an ORIGINAL Victoria owner that has a car earlier than that date and 
he has this mould_ing. Moulding number three is the steel moulding that covers the cloth top at the edges of 
each side and the rear where the cloth meets the steel top. These three are for the Steelback Victoria. I do 
not have a Leatherback Victoria and need for you Leatherback owners to tell me what you have. Especially 
those of you that have ORIGINAL LEATHERBACK V!CTORIAS. I am enclosing a fourth moulding, labled "C",that may 
be the type used to secure all of the Leatherback tops. This is important information that we want to get 
into the judging standards so please take a little time and help me in this research. 



' 

Front 
alumi.nun 

5/8." wide 

" I ---- 'j:-- ---, 

1 

- - _l 

-

\ 
I 

Attention 

Front 
aluninum 

5/8" \dde 
2 

-··---'-----------T""-------------------

0:::~-2: 

""-
.;.:.. -~ 

'\✓,' 
C 

LEA TH ER BACK ? 

3 

would like to inform the members that there is a special Wind Wing bracket for the Victoria and the 
A-400. I am enclosing a photo in the newsletter. It consisted of two pieces for each side. I have one for 
Victoria and will add it after the Hational Meet in Sturbridge. I am showing my car without any accessor'. 
except white wall tires. I have a pattern of the wind wing glass if any of you would like to have it. 

The two brackets on the left are the wind wing brackets 
for the Victoria and A-400. These two are for the top 
of thewing window. The left one is the underside and 
the right one i5 the top side. These brackets clamp to 
the door/window frame and the wing window glass is fit 
into the groove which allows it to be moved open or 
closed. 

These two show the bottom and top of the lower bracket. 
The shiney part faces up on the lower bracket and the 
shiney part of the upper bracket faces down. There is 
a nut on the movable part to tighten the tension. 

Roger Van Houten .advised me that Meyer's :--10,:el A Wood is out of business. Mr. Myer has retired. 

I mentioned previously in a newsletter that Bratton's Antique Ford Parts, has the Rope 
Assist Brackets. These are the correct vertical screw hole type as used on the Victoria. 
A member pointed out that a set is one bracket and two screws. If you need two, you will 
have to order two sets. 



FOR SALE 
FO'R SAll: 

1920 "7" Toun.i...n9-, ha,1 wi...n.e wheeL,1 1 "A" cn.ank, B 'RA!/0, 
dual i...9-ni...ti...on, n.uxteL, out,ii...de bn.ake,1. StutI Bean.cat duaL 
di...,itn.i...buton., wi...n.e wheeL,1 0 5 bn.ake,1 plu,1 othen. 9-oodi...e,1. 
?n.i...ce, 8,500 on. $5500 wi...th a ,ilock enii...ne. 

1926 "T" 'Road,iten. pi...ck-up wi...th munci...e tn.an,1mi_,1,1i...on, 
out,ii...de bn.ake,11 ,ii...de cun.tai...n,1 1 di...,itn.i...buti...on and /oun. valve 
'RA90, I J down dn.a[t "5" wi...nf i...eLd, munci...e tn.an,1mi...1ui...on and 0 
5 bn.ake,1. ?n.i...ce $01 000 on. $5,000 wi...thout the /oun. vaLve & 
can.b. 

Contact: N.$. (jud) ?aLmen., //86 N. CaLi.../on.ni...a St., 
On.an9-e1 CA. 92667, ?hone - 7!4-5]8-5507. 

FO'R SALl: ALL /on. the Vi...cton.i...a - !-/Loon. pan $250, I mi...nt 
9-a,1 tank $125, I pai...n. o/ ean.Lv JI /n.ont ,1.eat,1 wi...th new 
,1pn.i...n9-,1 i...ncLude,1 bn.acket,1 $250, 1-n.ean. ,ieat bottom and back 
wi...th new ,1pn.i...n9-,1 $150, I pai...n. o/ n.ean. bumpen. bn.ace,11 

exceLLent condi...ti...on $150, I on.i...9-i...naL headLi...9-ht ban., 
exceLLent $/00, I on.i...ii...naL 4~eedometen. ven.~ 100d $50, I pai...n. 
o/ exceLLent n.unni...n9- ooan.d,1 1150, I pai...n. Of cowL Li...9-ht,1 wi...th 
n.e-chn.omed an.m,1 $/00, lxceLLent n.epn.oducti...on /n.ont bumpen. 
$75, exceLLent n.epn.oducti...on n.ean. bumP,etr. $75, n.epn.oducti...on 
n.adi...aton. ,1pLa,1h aP.Aon$45, I compLete Ze.ian.on Bonnev Bed/on.d 
Con.d lnten.i...on. ki...t 12 vn.,1. old/ n.ean. ,ipan.e ti...n.e can.n.i...en., aa,ih 
n.ai...l, compLete n.oLli...ni cha,1,1.i_,1 wi...th matchi...n9- numben.4 wi...th 
mi...nt /n.am~Contact: 'Ron PoLlock, 1441 ?eppen.wood Dn.., Ni...Le,1, 
OIi. 4'4446. ?hone 2/6-652-7970, 

FO'R SALl: leathen.back Vi.cton.i...a, oLden. n.uton.ati...on but i...n 
ven.~ 9-ood mechani...caL condi...ti...on. lnten.i...on. wa,1 bv Stun.m and i...n 
pen.lect condi...ti...on. ?n.fce, $7,000, contact: W.O.~cCaLLum, 
7020 ~ai...n St., rn.i...,ico, Ix. 75034 - phone, 214-377-2656. 

FRONT SEAT 

;:-:,.. 
( .:.;,~ 

DRIVERS SEAT FRAME PASSEIIGER SEAT FRAME 
These Oak seat frames are for the late sliding drivers seat 
series of front seats for the Victoria. If you have the 
indented firewall, you probably should have this type. However, 
we have no exact date of when the sliding s~at went into production. 
We only know that it was in the late Victorias. 



I) 

2) 

J) 

4) 

WANTED 
Wanted: JI /non.t 6umpen and 6nacket4 complete, 

l u :. ~I L C t O It La . 
!}ud 7JaLme 1

1t, 1186 tV. CaLi.../01tni..a St., 01tanr;2., CA. 92667 
?hone - 714-538-5507. 

Wanted: Ooo1t hi...nie-1. /01t Vi...cto1ti...a i...n .iood condi...ti...on.. Contact, 
,Jaul II. frJ UL e1t, 50 le v eL 7? d. , L oLL eiev i...LLe, rp,4. 19426. 
?hone - 215-439-2083. 

Wanted: 01ti..ii...n.aL wood patte1tn. /01t SteeL6ach. Vi...clo1ti..a 1tea1t 
1too/ Dow a-1.-1.emDLff- (] pi...ece-1.) and dome Li...9:.ht 6Loch.. lead-1. 
app1teci...ated. Steve Cann.on., 1418 !vC 150 W. Jummvr./i...eLd, tVC. 
27358, ?hone - 919-64]-737], 

Wanted: frJetaL elate doo1t .1.i...LL-1. /01t JI Vi...cto1ti...a (Du1t1tafl­
bodv)· Contact: 01t. Ken.neL4 C. fl1a.1t.1.haLL, P.O.Box. 537, Ceda1t 
lli...Ll, f!JO. 63016. Ph. 314-285-2378 and wo1th. 314-991-0697 
!) l have /01t -1.aLe, two iood 1ti...9-ht hand doo1t-1. /01t Vi...cto1ti...a. 

Paie-1. frJodeL A ~a1ta9-e, llave1thi...LL, #ll.03765 

5) 

6) 

(603) 939-5562 & 989-5592. • 

W!INT[l) .- 07<.l{il/i/lfl 'J/ood patte:1.n-1. /01t leathe1t6ach. 1tea1t 
wi...n.do~. AL-1.0, need otti...~i..naL patte1tn.1. 01t wood /ott top and 
6od~ wood /01t SteeL6ack Vi..ctotti._a. Can heLf!. ff-OU wi...th ff-OU!t 
wood. Ort wi...l.L 6u!I- _9::.ood 01ti...9-i...naL/cattertn.1.. :Steve Cannon, 
1418 !vC 150 W., Jurnmett/i...eLd, [. 27358-(919) 643-7373, 

WOOD - I wi..LL do f1-0U1t wood i.../ ff.OU -1.en.d the f!.atte1tn.1.. 
f1ted Stei...6e1t 1 ]5 Cana-1.awacta. St.,No1twi...c/2,#J. 13815 
(607) 334-3089. lie ha-1. the headett avai._LabLe. 

7) WANTlD - 01ti...ve1t.1. -1.i._de /1tont wi._n.dow 1te~uLato1t & channel 
/.ott a 1931 Vi...cto1ti...a SteeL6ach.. Oavi._d frJ. [La.1th., 307 
li...Lac,BLach./oot, Id. 3]221, (208) 785-08/6. 

8) FOR SAL[ - Vtcto1ti...a Vi....1.01t 61tach.et.1. 
The-1.e b1tacket.1. atte a.n ex.act dupLi...cate 

the ea1tt.1. a1te i..nte1tchaniea6Le. Ptti...ce 
two. [on.tact: Wi...LLi...am II. Bond, 1040 
Cve1t9-1teen, CO. 304]9, p/2. JOJ-670-]28]. 

and P.att t-1. / o 1t -1.ame. 
o/ t/2e 01ti...9-i...naL and 
i....-1. $80. 00 pett -1.et o/ 
01..d Squaw Pa-1.-1., 

VICTORIA ASSOCIATIOH NEWSLETTER 

The International Model A Ford Victoria Association 

newsletter is a Body Style Chapter of th2 Model A Ford Club 
of America and a Region of the. Model A Restorers Club. The 
purpose is to aid its members in the authentic restoration 
of this (Victoria) particular body style. To achieve this 
purpose the newsletter is published by the Editor on a 
completely volunteer basis. It is written, edited, typed 
printed and mailed from 68 Windjammer, Frisco, Tx. 75034. It 
is our intent to furnish you with as accurate information as 
possible. Reprint or quotes fron this newsletter is granted, 
orovided due credit is given. 



MODEL A FORD DISTRIBUTOR ASSEMBLY 

I 
I 

I 28 

19 

18 

13 

1 

3 .• -47 
2~ 

I ' 

(PIN A-12100) 

~--i--9 

34 

i·~-31 

@• 32 
~ « 33 

~30 

ILLUSTRATED BY 
HOWARD BARNES 



INDEX NO. 

1 
2 
3 
4 
5 
6 
7 
8 

9 
10 

11 
12 
13 
14 

15 
16 
17 
18 
19 
20 
21 
22 
23 
24 
25 
26 

27 
28 

29 
30 
31 
32 

33 
34 
35 
36 

MODEL A FORD DISTRIBUTOR 
( PIN A-12100) 

PART NO. 

A-12130 
B-12132 
B-12135 

B-12195 
72857-S 
B-12144 
A-22902 

A-12300 
26457-S7 

34842-S 
27053-SS 
A-12148 
26457-S7 

34842-S 
A-12137 
A-12151 
A-12162 
A-12160 

34842-S 
33941-S? 
20116-S8 
34701-S? 

22056 
31052-S? 

A-12178 
A~12210 
8-12211 
35356-S 

8-12213 
A-12105 
A-12200 
A-12115 

Base Assembly 
Bushing 
Oiler 

NOMENCLATURE 

Fiber Washer - 112 x 3116 x 314 Plain 
Shaft Sleeve 
Sleeve Pin - 1 /8 x 13116 Plain Pin 
Clamp 
Clamp Rivet - 1 /8 x 15116 Oval Head Split Head 
(Plain Steel, Cadmium, Nickel, or Brass) 
Condenser 
Roundhead Machine Screw - 8-32 x 114 
Cadmium Plated 
Lockwasher - #8 Plain Finish 
Roundhead Machine Screw - 10-32 x 1 /4 Copper Plate 
Support Assembly Lowar Plate 
Roundhead Machine Screw - 8-32 x 114 Cadmiun 
(2 Req'd) 
Lockwasher #8 Plain Finish (2 Req'd) 
Spring 
Plate and Insulator Assembly 
Breaker Arm Assembly 
Contact Screw Bracket 
Steel Spacer (Same Thickness as Index No. 17) 
Fiber Washer 
Pigtail 
Lockwasher - Plain Finish 
Hex Nut - 8-32 x 5116 Cadmium 
Roundhead Screw - 8-32 x 5116, Zink Plate (2 Req'd) 
Washer - 5132 Plain (Goes with the Pivot Side of the 
Point Block) 
Lockwasher - #8 Plain Finish 
Fil lister Head Screw - 6-32 x 7116 Cadmium 
Lockwasher - #6 Plain Finish 
Plain Flat Washer - 5116 Cadmium 
Shaft 
Cam 
Cam Screw 
Lockwasher 5116 - Plain Finish 
(1132 x 17;32 Special Lockwasher) 
Washer - 5116 (1 /32 x 35164) Plain Finish 
Body 
Rotor 
Cap Assembly 

. I ~ . 
• L...;., 



\ L 
r-------~----' 

INSTRUtv\E.NT PANEL 
LAtv'\P BLA.C.K. WlRE F=OR \qzB -30 

EB 
YELLOW W11H BLAC.K TRACER 

00 NOT MAKE. ANY 
CONNECTION'::> TO 
THIS l"ERMlNAL 
OTHER THA.N ll-tO$E 
5HOWN P-5 CURRENT 
DRAWN FROM IT WILL 
NOT BE MEASURED 

RED 

BY THE. AMMETER ------

CARS 'NI~ OVA.L ~PEEOOk\e-t"eR 
lN~TRUMENT P~EL; 
'3/1~ OIAME.TER A.Rt'-AORED 
CABLE FOR. C~RS Win-I THE 
1930-31 5i'(LE \N&i~UME't-JT 

~ _ ~ P~EL; :n-lE ARMORED cA0LE 
J1:llCC.. l~ CA..ON\llJN\ PL~TE.0. . 

COtL 

BLA.C\(. 8RA.\0EO CLOTH LOOM 

Tl-IE DRlVER~ 51DE 
TERMlt--J~L \5 U5ED 

~ ...... "':..~..L.J,__,. __,'L.. "'M_.. ..... _ FOR SUPPLY TO ALL 
,,-::;:::::::::~ ELECTRlCAL 

AC.CE5e,ORlE:, ANO • 
THE lGNlTION 

6.ENERA.TOR 
HA.RNES5 

TERMINAL BOX 

EB. IF THE AMMETER INDlCATES "C14AR6E" WIT~ THE ENGINE 
OFF AND T~E ~EADLAMP:, ON, REVERSE THE AMMETER 
CONNECT\ON5~ \T SHOULD \NOICJ\1~ "D\SC\--\kR6E~' 

192c3- 31 MODEL"A:' FORD 
INSTRUMENT PANEL HARNESS IN:>TALLA1"10N 

I - 0 \ 



L 

l~STRUMENT PANEL ( 
µARNE5S 

YELLOW 

YELLOW w1m 
, BLACK TRACER 

TERMINAL BOX 

GENERATOR 

YELLOW WITH 
BLACK TRACER 

* BLA.CKCONOUIT 

~,ARTER 

*· PRIOR TO FEBRUARY OF \930 THE WlRE CONDU\T WAS A 
METAL TUBE. lN FEBRUARY OF \030 THE CONDUIT WA5 Cl-lANGEO 
TO A BLACK LACQUERED WOVEN CLOTH LOOM W~ICH WAS USED 
THROU5HOUT 11--\E REMA\NDER OF MODEL''A'.' PROOUCllON. THE 
METAL CONDUIT FATIGUE .CRACKED BECAUSE \TWAS 
CONNECTED TO B011-i11--IE:ENG\N£. ANDll-lE BODY. 

1928-3\ MODEC'A" FORD 
GENERATOR. HARNESS INSTALLATION 

f 

i. 
! 

r 



..._ .... 
~ 

'' \,-- ~ .. .. ; 

.. ! 
' ' . . , 

¥.;'. 

1·. - ~ 

:. -~ - ~ 
-'----~-- - .. - - , 

Please note the trunk and 
spare tire on the rear of 
the de Socarras Victoria. 

I'm sure that you will 
find this is an unusual 
; 

1et up. They drive their 
_v\.ictoria a lot and will be 
at the MAFCA ~ational at 
Sturbridge. 

• I,,' .... 

\s 
------- ·-- . 

__ .-.,,.,.,_. 
·::....a:'t .. -·'t . ·• ..... -· 

' 

I' 

The Victoria Leatherback to 
the left and below belongs 
t o R o g e r a n d C h r i s t i n e 
de Socarras. They live in 
Revere, Pa. and are new 
members . 

This Steelback Victoria is 
owned by Robert and Christi 
Anderson of Grand Rapids, Mich 
Bob tells me that this is his 
next project and not to laugh. 

8 o b , 
worse 
1 o o k s 
sho·,1n 

my Victoria was a lot 
than yours and now it 
like ne1~ and will be 
a t S t u r b r i d g e . 



.!In fr, 11u1li<1>u1 I 

,l/.odel ,d i!iou/ ~4 '/irl<,ui-1- ,rl.JJ«ti-1/ion 

68 WINDJAMMER 

... . 

FRISCO, TEXAS 75034 

,:jf. 


